Fort Bend County Tabulation Bid 24-013

Reconstruction and Widening of McCrary Road for Fort Bend County Mobility Bond Project No. 17313x

Recommended: Northtex Construction, LLC \$12,196,999.52 Funding: Mobility Bonds / Bond Referendum

Company	Bid Price	Completion Time in Calendar Days
Northtex Construction, LLC Houston, TX	\$12,196,999.52	548
R Construction Civil, LLC Buffalo, TX	\$12,645,782.10	540
Texas Sterling Construction Co. Houston, TX	\$12,815,752.90	548
SER Construction Partners, LLC Pasadena, TX	\$14,150,627.10	548
Zachry Construction Corporation San Antonio, TX	\$14,307,285.87	548
Harper Brothers Construction, LLC Houston, TX	\$14,825,238.65	548
Millis Equipment, LLC Missouri City, TX	\$16,030,632.45	548

Hurtado Construction Company – Disqualified due to not utilizing and providing Addendum 1 bid pricing form with submittal

					Northtex Co	nstruction, LLC	R Construct	ion Civil, LLC.	Texas Sterling	Construction Co.	SER Construction	on Partners, LLC.	Zachry Construc	tion Corporation	Harper Brothers	Construction, LLC.	Millis Equi	ipment, LLC.
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures	Price	Figures	Price	Figures	Price	Figures
A. Site Preparatio																		
1		Clearing and Grubbing	STA	95	\$484.93	\$46,068.35	\$5,000.00	\$475,000.00	\$6,785.00	\$644,575.00		\$1,026,000.00	\$1,747.56	\$166,018.20	\$3,150.00	\$299,250.00	\$3,790.00	\$360,050.00
3	HC 104	Removing Old Concrete (Driveway) Removing Old Concrete (Pavement)	SY SY	272 282	\$46.10 \$46.23	\$12,539.20 \$13,036.86	\$25.00 \$25.00	\$6,800.00 \$7,050.00	\$23.00 \$23.00	\$6,256.00 \$6,486.00	\$21.20 \$11.90	\$5,766.40 \$3,355.80	\$12.41 \$11.68	\$3,375.52 \$3,293.76	\$7.50 \$15.75	\$2,040.00 \$4,441.50	\$13.50 \$14.00	\$3,672.00 \$3,948.00
4	HC 110	Roadway Excavation (Including 3" Stripping)	CY	24,621	\$8.80	\$216,664.80	\$15.00	\$369,315.00	\$25.00	\$615,525.00	\$23.70	\$583,517.70	\$28.00	\$689,388.00	\$25.00	\$615,525.00	\$22.00	\$541,662.00
5	HC 130	Borrow Remove and Dispose of Existing Concrete or	CY	8,938	\$10.70	\$95,636.60	\$20.00	\$178,760.00	\$1.00	\$8,938.00	\$24.50	\$218,981.00	\$17.00	\$151,946.00	\$0.50	\$4,469.00	\$31.50	\$281,547.00
6	HC 465	Metal Pipe (18" - 36")	LF	2,190	\$9.62	\$21,067.80	\$20.00	\$43,800.00	\$20.00	\$43,800.00	\$27.20	\$59,568.00	\$26.87	\$58,845.30	\$40.00	\$87,600.00	\$25.50	\$55,845.00
7	HC 465	Remove and Dispose of Existing Concrete or	1F	98	\$14.00	\$1,372.00	\$50.00	\$4,900.00	\$280.00	\$27,440.00	\$63.70	\$6,242.60	\$21.00	\$2.058.00	\$125.00	\$12.250.00	\$80.50	\$7.889.00
8	HC 495	Metal Pipe (96")	LF	134	\$11.94	\$1,599.96	\$50.00	\$6,700.00	\$55.00	\$7,370.00	\$44.50	\$5,963.00	\$28.60	\$3.832.40	\$125.00	\$16,750.00	\$95.50	\$12,797.00
9	HC 495	Remove and Dispose of Old Structures (Box Culvert) Remove and Dispose of Old Structures (Manholes)	EA	134	\$1,046.49	\$1,046.49	\$1,200.00	\$1,200.00	\$463.00	\$463.00	\$900.00	\$900.00	\$2,524.24	\$2,524.24	\$2,500.00	\$2,500.00	\$986.00	\$986.00
10	HC 495	Remove and Dispose of Old Structures (Headwalls)	EA	4	\$2,062.81	\$8,251.24	\$3,500.00	\$14,000.00	\$1,700.00	\$6,800.00	\$2,073.70	\$8,294.80	\$475.35	\$1,901.40	\$3,000.00	\$12,000.00	\$2,970.00	\$11,880.00
11	HC 495	Remove and Dispose of Old Structures	EA	14	\$589.37	\$8,251.18	\$500.00	\$7,000.00	\$462.00	\$6,468.00	\$700.00	\$9,800.00	\$1,320.78	\$18,490.92	\$500.00	\$7,000.00	\$1,180.00	\$16,520.00
12	HC 495	(Safety End Treatment) Remove and Dispose of Old Structures (Guard Rail)	LF	372	\$20.69	\$7,696.68	\$15.00	\$5,580.00	\$10.00	\$3,720.00	\$8.40	\$3,124.80	\$10.70	\$3,980.40	\$10.00	\$3,720.00	\$24.00	\$8,928.00
13	HC 500	Remove and Relocate or Dispose of Mailboxes	EA	11	\$3,206.89	\$35,275.79	\$300.00	\$3,300.00	\$145.00	\$1,595.00	\$560.00	\$6,160.00	\$189.04	\$2,079.44	\$50.00	\$550.00	\$186.00	\$2,046.00
14	HC 500	Remove and Relocate or Dispose of Traffic Signs	LS	1	\$5,825.28	\$5,825.28	\$3,500.00	\$3,500.00	\$23,000.00	\$23,000.00	\$2,240.00	\$2,240.00	\$2,823.82	\$2,823.82	\$2,500.00	\$2,500.00	\$7,040.00	\$7,040.00
45		and Roadway Signs Remove and Dispose of Existing Asphaltic Surface	SY	20.554	40.05	4474 505 00	440.00	4305 540 00	45.00	4400 00400	40.00	4454 433 00	44.05	402 242 70	45.75	4440 405 50	422.00	4452 400 00
15	HC 540	and Base Material (All Depths)		20,554	\$8.35	\$171,625.90	\$10.00	\$205,540.00	\$6.00	\$123,324.00	\$8.00	\$164,432.00	\$4.05	\$83,243.70	\$5.75	\$118,185.50	\$22.00	\$452,188.00
16 SURTOTAL SITE P	DWG REPARATION A	Fort Bend Project Sign ND EVACATION ITEMS	EA	2	\$2,330.11	\$4,660.22 \$650,618.35	\$1,300.00	\$2,600.00 \$1,335,045.00	\$985.00	\$1,970.00 \$1,527,730.00	\$1,064.00	\$2,128.00 \$2,106,474.10	\$1,284.13	\$2,568.26 \$1,196,369.36	\$1,650.00	\$3,300.00 \$1,192,081.00	\$1,410.00	\$2,820.00 \$1,769,818.00
JOBIOTALSITEF	REFARATIONA	AD EVACATION TIEWS				\$650,616.55		\$1,555,045.00		\$1,527,730.00		\$2,100,474.10		\$1,190,309.30		\$1,192,081.00		\$1,769,616.00
B. Pavement Item	ns																	
17	HC 220	Lime Stabilized Subgrade Manipulation (6")	SY	1,339	\$4.30	\$5,757.70	\$6.00	\$8,034.00	\$5.00	\$6,695.00	\$4.80	\$6,427.20	\$7.63	\$10,216.57	\$5.50	\$7,364.50	\$10.00	\$13,390.00
18 19	HC 220 HC 221	Lime Stabilized Subgrade Manipulation (8") Hydrated Lime (Slurry Applied) or Commercial Lime Slurry for Sta	SY TON	62,004 1.449	\$3.86 \$322.54	\$239,335.44 \$467.360.46	\$3.75 \$300.00	\$232,515.00 \$434,700.00	\$5.00 \$320.00	\$310,020.00 \$463,680.00	\$5.40 \$370.20	\$334,821.60 \$536,419.80	\$5.25 \$404.15	\$325,521.00 \$585,613.35	\$6.25 \$340.00	\$387,525.00 \$492,660.00	\$5.25 \$397.00	\$325,521.00 \$575,253.00
20	HC 250	Hot Mix Asphaltic Concrete Base Course(Black Base) (8")	TON	736	\$85.37	\$62,832.32	\$180.00	\$132,480.00	\$138.13	\$101,663.68	\$119.30	\$87,804.80	\$177.96	\$130,978.56	\$150.00	\$110,400.00	\$245.00	\$180,320.00
21	HC 340	Hot Mix-Hot Laid Asphaltic Concrete (2.5")	TON	160	\$291.28	\$46,604.80	\$230.00	\$36,800.00	\$265.63	\$42,500.80	\$151.30	\$24,208.00	\$342.22	\$54,755.20	\$200.00	\$32,000.00	\$320.00	\$51,200.00
22	HC 340	Hot Mix-Hot Laid Asphaltic Concrete (2" Level-Up) Reinforced Concrete Pavement (8")	TON SY	39 48.060	\$286.79 \$71.34	\$11,184.81 \$3.428.600.40	\$230.00 \$65.00	\$8,970.00 \$3.123.900.00	\$265.63 \$70.00	\$10,359.57 \$3.364.200.00	\$185.60 \$64.80	\$7,238.40 \$3.114.288.00	\$342.22 \$78.17	\$13,346.58 \$3.756.850.20	\$200.00 \$75.00	\$7,800.00 \$3,604.500.00	\$512.00 \$71.05	\$19,968.00
24	HC 360	Reinforced Concrete Pavement (8") (HES)	SY	7,415	\$69.56	\$515,787.40	\$75.00	\$556,125.00	\$82.00	\$608,030.00	\$90.00	\$667,350.00	\$93.78	\$695,378.70	\$95.00	\$704,425.00	\$76.00	\$563,540.00
25	HC 433	Cement Stabilized Sand Subgrade (6")	SY	636	\$30.47	\$19,378,92	\$15.00	\$9,540.00	\$10.00	\$6,360.00	\$59.20	\$37.651.20	\$20.44	\$12,999.84	\$25.00	\$15.900.00	\$22.50	\$14,310.00
26	HC 530	(For Commercial Driveways)	SY	2,031	\$77.23	\$156,854.13	\$90.00	\$182,790.00	\$84.00	\$170,604.00	\$111.60	\$226,659.60	\$179.20	\$363,955.20	\$110.00	\$223,410.00	\$75.00	\$152,325.00
27	HC 530	Reinforced Concrete Driveway (8") Concrete Curb (6")	LF	27,953	\$5.12	\$143,119.36	\$4.00	\$111,812.00	\$3.00	\$83,859.00	\$3.90	\$109,016.70	\$4.26	\$119,079.78	\$7.25	\$202,659.25	\$4.30	\$120,197.90
28	HC 530	Concrete Curb (9" Barrier Curb)	LF	1,102	\$7.48	\$8,242.96	\$6.00	\$6,612.00	\$6.00	\$6,612.00	\$5.10	\$5,620.20	\$5.97	\$6,578.94	\$12.00	\$13,224.00	\$7.50	\$8,265.00
29 30	HC 530	Concrete Curb & Gutter (6")	LF SY	216 2,156	\$17.56 \$75.23	\$3,792.96 \$162,195.88	\$60.00 \$70.00	\$12,960.00 \$150,920.00	\$30.00 \$62.00	\$6,480.00 \$133,672.00	\$25.20 \$73.20	\$5,443.20 \$157,819.20	\$20.84 \$94.84	\$4,501.44 \$204,475.04	\$45.00 \$110.00	\$9,720.00 \$237,160.00	\$24.00 \$74.50	\$5,184.00 \$160,622.00
31	HC 530	Concrete Sidewalk (4 1/2") ADA Curb Ramps - Type 7	EA EA	14	\$1,666.84	\$23,335.76	\$2,000.00	\$28,000.00	\$1,400.00	\$19,600.00	\$2,013.50	\$28,189.00	\$3,911.08	\$54,755.12	\$3,950.00	\$55,300.00	\$2,240.00	\$31,360.00
32	HC 535	Concrete Median Pavement (6")	SY	61	\$189.72	\$11,572.92	\$90.00	\$5,490.00	\$188.00	\$11,468.00	\$91.90	\$5,605.90	\$78.22	\$4,771.42	\$250.00	\$15,250.00	\$93.50	\$5,703.50
33 SUBTOTAL PAVEN	HC 536	Coloring Concrete for Median Noses	SY	61	\$252.51	\$15,403.11 \$5,321,359.33	\$20.00	\$1,220.00 \$5,042,868.00	\$46.00	\$2,806.00 \$5,348,610.05	\$5.20	\$317.20 \$5,354,880.00	\$9.78	\$596.58 \$6,344,373.52	\$5.00	\$305.00 \$6,119,602.75	\$35.00	\$2,135.00 \$5.643.957.40
JOBIOTALFAVEN	VICIAL IL CIVIS					\$5,521,559.55		\$5,042,868.00		\$5,546,610.05		\$5,354,880.00		\$0,344,373.32		\$6,119,602.75		\$5,645,957.40
C. Storm Sewer It																		
34	HC 429 HC 460/	Trench Safety System, 5' to 10' Depths Reinforced Concrete Pipe, C76, Class III,	LF	8,917	\$0.84	\$7,490.28	\$2.00	\$17,834.00	\$1.00	\$8,917.00	\$0.30	\$2,675.10	\$7.00	\$62,419.00	\$1.00	\$8,917.00	\$2.55	\$22,738.35
35	HC 466	Rubber Gasket OR Polypropylene Pipe (18")	LF	81	\$144.53	\$11,706.93	\$101.00	\$8,181.00	\$127.00	\$10,287.00	\$100.80	\$8,164.80	\$124.21	\$10,061.01	\$235.00	\$19,035.00	\$93.50	\$7,573.50
36	HC 460/	Reinforced Concrete Pipe, C76, Class III,	LF	4,145	\$97.41	\$403,764.45	\$95.00	\$393,775.00	\$101.00	\$418.645.00	\$116.80	\$484.136.00	\$121.30	\$502,788,50	\$135.00	\$559,575.00	\$132.00	\$547,140,00
37	HC 466	Rubber Gasket OR Polypropylene Pipe (24") Reinforced Concrete Pipe, C76, Class III Rubber Gasket (24")	LF	39	\$121.49	\$4.738.11	\$130.00	\$5.070.00	\$153.00	\$5,967.00	\$116.90	\$4,559.10	\$165.57	\$6.457.23	\$225.00	\$8,775.00	\$148.00	\$5,772.00
	HC 460/	Reinforced Concrete Pipe, C76, Class III,				. ,		,		1 - 7								1.7
38	HC 466	Rubber Gasket OR Polypropylene Pipe (30")	LF	2,198	\$127.65	\$280,574.70	\$125.00	\$274,750.00	\$147.00	\$323,106.00	\$156.30	\$343,547.40	\$164.40	\$361,351.20	\$175.00	\$384,650.00	\$227.00	\$498,946.00
39	HC 460/	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket OR Polypr	LF	1,805	\$188.43	\$340,116.15	\$145.00	\$261,725.00	\$162.00	\$292,410.00	\$205.70	\$371,288.50	\$177.14	\$319,737.70	\$175.00	\$315,875.00	\$228.00	\$411,540.00
	HC 466	Reinforced Concrete Pipe, C76, Class III,																+
40	HC 460	Rubber Gasket (36")	LF	729	\$180.50	\$131,584.50	\$215.00	\$156,735.00	\$194.00	\$141,426.00	\$205.70	\$149,955.30	\$242.47	\$176,760.63	\$225.00	\$164,025.00	\$292.00	\$212,868.00
41	HC 463	Safety End Treatment (Type II) (18") (6:1)	EA EA	6	\$2,103.69	\$12,622.14	\$2,300.00	\$13,800.00	\$1,400.00	\$8,400.00	\$1,814.40	\$10,886.40	\$2,713.04	\$16,278.24	\$1,625.00	\$9,750.00	\$2,150.00	\$12,900.00
43	HC 463	Safety End Treatment (Type II) (24") (6:1) Safety End Treatment (Type II) (30") (6:1)	EA	20 6	\$2,789.10 \$3,122.22	\$55,782.00 \$18,733.32	\$2,500.00 \$3,500.00	\$50,000.00 \$21,000.00	\$1,700.00 \$2,100.00	\$34,000.00 \$12,600.00	\$2,496.60 \$4,483.60	\$49,932.00 \$26,901.60	\$3,130.22 \$3,521.33	\$62,604.40 \$21,127.98	\$2,015.00 \$2,685.00	\$40,300.00 \$16,110.00	\$2,340.00 \$3,660.00	\$46,800.00 \$21,960.00
44	HC 463	Safety End Treatment (Type II) (24") (4:1)	EA	2	\$2,497.84	\$4,995.68	\$2,500.00	\$5,000.00	\$1,500.00	\$3,000.00	\$2,141.80	\$4,283.60	\$2,862.96	\$5,725.92	\$2,235.00	\$4,470.00	\$2,340.00	\$4,680.00
45	HC 463	Safety End Treatment (Type I)(S=3 FT)(HW=2 FT)(6:1)	EA	2	\$10,970.54	\$21,941.08	\$7,500.00	\$15,000.00	\$9,200.00	\$18,400.00	\$7,182.40	\$14,364.80	\$14,295.11	\$28,590.22	\$9,850.00	\$19,700.00	\$10,300.00	\$20,600.00
46 47	TXDOT 466	Wingwall (PW-1)(HW=5FT) Wingwall (PW-1)(HW=6FT)	EA EA	6	\$30,221.96 \$29,999.18	\$60,443.92 \$179,995.08	\$6,000.00	\$12,000.00 \$48,000.00	\$4,000.00 \$23,000.00	\$8,000.00	\$13,704.90 \$37,100.00	\$27,409.80 \$222,600.00	\$22,999.78 \$61,355.02	\$45,999.56 \$368,130.12	\$26,925.00 \$10,915.00	\$53,850.00 \$65,490.00	\$26,900.00	\$53,800.00 \$237,000.00
48		Wingwall (FW-0)(HW=6FT)	EA	2	\$21,595.93	\$43,191.86	\$18,000.00	\$36,000.00	\$9,364.00	\$18,728.00	\$34,942.40	\$69,884.80	\$9,756.12	\$19,512.24	\$85,125.00	\$170,250.00	\$48,900.00	\$97,800.00
49 50	HC 471	Precast Concrete Manhole (All Depths)	EA EA	25 4	\$6,106.12	\$152,653.00	\$5,000.00	\$125,000.00	\$5,700.00	\$142,500.00	\$6,627.90 \$4,731.70	\$165,697.50	\$6,755.96	\$168,899.00	\$8,250.00	\$206,250.00	\$4,410.00	\$110,250.00
51	HC 472	Precast Concrete Type "A" Inlet (All Depths) Precast Concrete Type "A" Inlet (MOD) (All Depths)	EA EA	2	\$4,919.80 \$5,160.37	\$19,679.20 \$10,320.74	\$2,500.00 \$7,000.00	\$10,000.00 \$14,000.00	\$3,600.00	\$14,400.00 \$12,000.00	\$4,731.70	\$18,926.80 \$12,504.40	\$6,756.58 \$8,040.72	\$27,026.32 \$16,081.44	\$5,000.00 \$11,350.00	\$20,000.00 \$22,700.00	\$5,620.00 \$5,620.00	\$22,480.00 \$11,240.00
52	HC 472	Precast Concrete Type "C" Inlet (MOD) (All Depths)	EA	24	\$7,018.81	\$168,451.44	\$5,000.00	\$120,000.00	\$5,700.00	\$136,800.00	\$5,297.30	\$127,135.20	\$7,832.13	\$187,971.12	\$7,350.00	\$176,400.00	\$5,580.00	\$133,920.00
53	HC 472	Precast Concrete Type "C" Inlet (4 FT) (All Depths)	EA	3	\$7,900.61 \$7.682.57	\$23,701.83	\$5,000.00	\$15,000.00	\$5,600.00	\$16,800.00	\$5,874.10	\$17,622.30	\$7,832.13 \$8.653.46	\$23,496.39	\$7,350.00 \$8,300.00	\$22,050.00	\$5,860.00	\$17,580.00
54 55	HC 472 HC 472	Precast Concrete Type "C-1" Inlet (All Depths) Precast Concrete Type "C" SPL Inlet (All Depths)	EA EA	5 18	\$7,682.57	\$38,412.85 \$96,686.46	\$6,500.00 \$4,500.00	\$32,500.00 \$81,000.00	\$6,800.00 \$5,100.00	\$34,000.00 \$91,800.00	\$6,725.60 \$5,931.40	\$33,628.00 \$106,765.20	\$8,653.46	\$43,267.30 \$64,166.04	\$8,300.00	\$41,500.00 \$166,770.00	\$7,100.00 \$5,910.00	\$35,500.00
56	HC 472	Precast Concrete Type "E" Inlet (All Depths)	EA	6	\$8,067.50	\$48,405.00	\$4,000.00	\$24,000.00	\$6,700.00	\$40,200.00	\$6,316.50	\$37,899.00	\$9,129.30	\$54,775.80	\$8,360.00	\$50,160.00	\$5,180.00	\$31,080.00
57	HC 480	Reinforced Concrete Box Culvert, C1433,	LF	117	\$434.09	\$50,788.53	\$560.00	\$65,520.00	\$400.00	\$46,800.00	\$334.50	\$39,136.50	\$366.33	\$42,860.61	\$475.00	\$55,575.00	\$455.00	\$53,235.00
	+	Rubber Gasket - 3' x 2' Reinforced Concrete Box Culvert, C1433,		 													-	
58	HC 480	Rubber Gasket - 3' x 3'	LF	102	\$469.15	\$47,853.30	\$650.00	\$66,300.00	\$340.00	\$34,680.00	\$375.30	\$38,280.60	\$466.42	\$47,574.84	\$525.00	\$53,550.00	\$495.00	\$50,490.00
59	HC 480	Reinforced Concrete Box Culvert, C1433,	LF	94	\$485.91	\$45,675.54	\$650.00	\$61,100.00	\$370.00	\$34,780.00	\$374.90	\$35,240.60	\$407.14	\$38,271.16	\$525.00	\$49,350.00	\$516.00	\$48,504.00
		Rubber Gasket - 4' x 2' Reinforced Concrete Box Culvert, C1433,			,	, ,, ,,		,	, , , , , ,	, , ,	, , , , , ,	,		, , , ,		,	,	
60	HC 480	Rubber Gasket - 6' x 4'	LF	306	\$754.33	\$230,824.98	\$800.00	\$244,800.00	\$580.00	\$177,480.00	\$783.20	\$239,659.20	\$750.75	\$229,729.50	\$825.00	\$252,450.00	\$987.00	\$302,022.00
61	HC 480	Reinforced Concrete Box Culvert, C1433,	LF	102	\$1,001.69	\$102,172.38	\$1,150.00	\$117,300.00	\$700.00	\$71,400.00	\$842.50	\$85,935.00	\$933.33	\$95,199.66	\$1,100.00	\$112,200.00	\$1,150.00	\$117,300.00
		Rubber Gasket - 7' x 5' Reinforced Concrete Box Culvert, C1433,		 					,		, , , , , ,		,					-
62	HC 480	Rubber Gasket - 10' x 6'	LF	1,160	\$1,360.31	\$1,577,959.60	\$1,615.00	\$1,873,400.00	\$1,200.00	\$1,392,000.00	\$1,345.10	\$1,560,316.00	\$1,492.03	\$1,730,754.80	\$1,600.00	\$1,856,000.00	\$2,010.00	\$2,331,600.00
63	HC 491	Reinforced Concrete Slope Paving (5" thick)	SY	1,505	\$140.97	\$212,159.85	\$90.00	\$135,450.00	\$72.00	\$108,360.00	\$91.20	\$137,256.00	\$77.05	\$115,960.25	\$100.00	\$150,500.00	\$103.00	\$155,015.00
SUBTOTAL STORM	vi SEWER ITEMS					\$4,403,424.90		\$4,304,240.00		\$3,795,886.00		\$4,446,591.50		\$4,893,578.18		\$5,076,227.00		\$5,728,713.85
D. Detention Pon	d Items																	
64	HC 102	Clearing & Grubbing	LS	1	\$12,399.91	\$12,399.91	\$12,000.00	\$12,000.00	\$50,000.00	\$50,000.00	\$61,601.70		\$24,881.17	\$24,881.17	\$23,500.00	\$23,500.00	\$33,600.00	
65	HC 120 HC 165	Excavation for Channels and Other Drainage Facilities Hydro-Mulch Seeding	CY AC	8,830 4	\$5.79 \$2,912.65	\$51,125.70 \$11.126.32	\$12.00 \$1,500.00	\$105,960.00 \$5.730.00	\$17.00 \$7.210.00	\$150,110.00 \$27,542.20	\$18.00 \$1.792.00	\$158,940.00 \$6.845.44	\$10.79 \$2,281.46	\$95,275.70 \$8.715.18	\$20.00 \$2,250.00	\$176,600.00 \$8.595.00	\$27.00 \$3.200.00	\$238,410.00 \$12.224.00
67	HC 165	Reinforced Concrete Slope Paving (5")	SY	20	\$639.52	\$12,790.40	\$1,500.00	\$2,200.00	\$230.00	\$4,600.00	\$92.60	\$1,852.00	\$179.93	\$3,598.60	\$300.00	\$6,000.00	\$103.00	\$2,060.00
68	HC 713	Reinforced Filter Fabric Barrier (60% of unit cost for	LF	1,516	\$1.75	\$2,653.00	\$2.00	\$3,032.00	\$5.00	\$7,580.00	\$2.80	\$4,244.80	\$5.87	\$8,898.92	\$3.15	\$4,775.40	\$2.75	\$4,169.00
	+	furnish and install; 40% of unit cost for removal)					,											
69	HCFCD 02376	Backslope Protection Swale	LF	1,400	\$1.75	\$2,450.00	\$5.00	\$7,000.00	\$4.00	\$5,600.00	\$10.00	\$14,000.00	\$6.25	\$8,750.00	\$5.00	\$7,000.00	\$10.00	\$14,000.00
SUBTOTAL DETEN	ITION POND ITE	MS				\$92,545.33		\$135,922.00		\$245,432.20		\$247,483.94		\$150,119.57		\$226,470.40		\$304,463.00
E. Outfall Channel	Litome																	
70		Clearing & Grubbing	STA	27	\$282.28	\$7,621.56	\$900.00	\$24,300.00	\$6,785.00	\$183,195.00	\$2,210.40	\$59.680.80	\$871.81	\$23,538.87	\$1,475.00	\$39,825.00	\$3,240.00	\$87,480.00
71	HC 120	Excavation for Channels and Other Drainage Facilities	CY	7,525	\$5.79	\$43,569.75	\$13.00	\$97,825.00	\$15.00	\$112,875.00	\$18.00	\$135,450.00	\$14.72	\$110,768.00	\$20.00	\$150,500.00	\$31.50	\$237,037.50
72		Hydro-Mulch Seeding	AC	4	\$2,679.63	\$11,468.82	\$1,500.00	\$6,420.00	\$6,500.00	\$27,820.00	\$1,792.00	\$7,669.76	\$2,281.46	\$9,764.65	\$2,250.00	\$9,630.00	\$3,200.00	\$13,696.00
73 74	HC 230	Flex Base (6" Depth) Hot Mix-Hot Laid Asphaltic Concrete (2.5" Depth)	SY TON	800 54	\$42.74 \$295.50	\$34,192.00 \$15,957.00	\$22.00 \$230.00	\$17,600.00 \$12,420.00	\$35.00 \$265.63	\$28,000.00 \$14,344.02	\$44.20 \$264.60	\$35,360.00 \$14.288.40	\$24.52 \$342.22	\$19,616.00 \$18.479.88	\$15.00 \$225.00	\$12,000.00 \$12.150.00	\$39.50 \$433.00	\$31,600.00 \$23,382.00
75		Trench Safety System (All Depths)	LF	172	\$0.84	\$144.48	\$2.00	\$344.00	\$1.00	\$172.00	\$1.10	\$189.20	\$25.50	\$4,386.00	\$1.00	\$172.00	\$19.00	\$3,268.00

Fort Bend County 2017 Mobility Bond Program
Reconstruction and Widening of McCrary Road

(Project No. 17313x, Bid No. 24-013)

No. 76 HH 77 TXD 78 HH 79 HH 80 HH 81 HH 82 HH 82 HH 82 HH 83 HH 84 HH	Spec. No. HC 461 XDOT 466 HC 480 HC 480	Item Description Corrugated Metal Pipe (24") Wingwall FW-0 (4-1) (HW+6FT) Reinforced Concrete Box Culvert, C1433, Rubber Gasket - 8'x 5"	Unit Measure LF EA	Unit Quantity 172 4	9129.64 \$32,545.16	Total in Figures \$22,298.08 \$130,180.64	Unit Price \$95.00	Total in Figures \$16,340.00	Unit Price \$161.00	Total in Figures \$27,692.00	Unit Price \$164.70	Total in Figures \$28,328.40	Unit Price \$137.92	Total in Figures \$23,722.24	Unit Price \$160.00	Total in Figures \$27,520.00	Unit Price	Total in Figures
77 TXD 78 Hr 79 Hr 80 Hr 81 Hr 82 Hr 83 Hr 84 Hr	HC 480	Wingwall FW-0 (4:1) (HW=6FT) Reinforced Concrete Box Culvert, C1433, Rubber Gasket - 8' x 5'	EA	4					\$161.00	\$27,692.00	\$164.70	\$28,328.40	\$137.92	\$23,722,24	\$160.00	\$27,520.00	\$121.00	
78 Hi 79 Hi 80 Hi 81 Hi 82 Hi 83 Hi 84 Hi 85 Hi	HC 480 HC 480	Reinforced Concrete Box Culvert, C1433, Rubber Gasket - 8' x 5'			\$32,545.16	\$130 180 64												\$20,812.00
79 HH 80 HH 81 HH 82 HH 83 HH 84 HH 85 HH	HC 480	Rubber Gasket - 8' x 5'	16			\$130,100.04	\$18,000.00	\$72,000.00	\$28,000.00	\$112,000.00	\$32,839.70	\$131,358.80	\$17,446.99	\$69,787.96	\$52,985.00	\$211,940.00	\$70,100.00	\$280,400.00
80 Hi 81 Hi 82 Hi 83 Hi 84 Hi			Li	123	\$1,069.91	\$131,598.93	\$1,100.00	\$135,300.00	\$750.00	\$92,250.00	\$961.00	\$118,203.00	\$1,089.02	\$133,949.46	\$1,250.00	\$153,750.00	\$1,460.00	\$179,580.00
81 Hi 82 Hi 83 Hi 84 Hi 85 Hi	HC 401	Reinforced Concrete Box Culvert, C1433,	LF	138	\$1,465.43	\$202,229.34	\$1,400.00	\$193,200.00	\$1,100.00	\$151,800.00	\$1,283.90	\$177,178.20	\$1,492.52	\$205,967.76	\$1,675.00	\$231,150.00	\$1,920.00	\$264,960.00
82 Hi 83 Hi 84 Hi 85 Hi		Rubber Gasket - 10' x 5' Reinforced Concrete Slope Paving (5" thick)	SY	649	\$114.83	\$74,524.67	\$90.00	\$58,410.00	\$92.00	\$59,708.00	\$91.00	\$59,059.00	\$78.49	\$50,940.01	\$100.00	\$64,900.00	\$109.00	\$70,741.00
83 Hi 84 Hi 85 Hi	HC 491	Reinforced Concrete Slope Paving (6" thick) Reinforced Filter Fabric Barrier (60% of unit cost for	SY	8	\$221.81	\$1,774.48	\$180.00	\$1,440.00	\$110.00	\$880.00	\$99.60	\$796.80	\$339.41	\$2,715.28	\$125.00	\$1,000.00	\$303.00	\$2,424.00
84 Hi	HC 713	furnish and install; 40% of unit cost for removal)	LF	4,559	\$2.33	\$10,622.47	\$2.00	\$9,118.00	\$5.00	\$22,795.00	\$2.80	\$12,765.20	\$5.87	\$26,761.33	\$3.15	\$14,360.85	\$2.75	\$12,537.25
85 H	HC 719	Inlet Protection Barrier - Stage I (60% of unit cost for furnish and install; 40% of unit cost for removal)	EA	6	\$75.73	\$454.38	\$50.00	\$300.00	\$90.00	\$540.00	\$95.20	\$571.20	\$228.15	\$1,368.90	\$115.00	\$690.00	\$100.00	\$600.00
85 H		Stabilized Construction Access - Type I																
	HC 724	(60% of unit cost for furnish and install; 40% of unit cost for removal)	SY	111	\$42.99	\$4,771.89	\$20.00	\$2,220.00	\$40.05	\$4,445.55	\$44.80	\$4,972.80	\$65.19	\$7,236.09	\$40.05	\$4,445.55	\$28.00	\$3,108.00
		Inlet Protection Barrier - Stage II	EA	6	\$87.38	\$524.28	\$50.00	\$300.00	\$60.00	\$360.00	\$61.60	\$369.60	\$325.93	\$1,955.58	\$62.00	\$372.00	\$100.00	\$600.00
	HC 741	(60% of unit cost for furnish and install; 40% of unit cost for removal)	EA	ь	\$87.38	\$524.28	\$50.00	\$300.00	\$60.00	\$360.00	\$61.60	\$369.60	\$325.93	\$1,955.58	\$62.00	\$372.00	\$100.00	\$600.00
	HC 750	Rock Filter Dam Type I (60% of unit cost for furnish and install;	LF	246	\$30.57	\$7.520.22	\$65.00	\$15,990.00	\$140.00	\$34,440.00	\$179.20	\$44.083.20	\$65.19	\$16.036.74	\$140.00	\$34.440.00	\$52.00	\$12,792.00
00 11	110 730	40% of unit cost for removal)	i.	240	330.37	J1,320.22	Ç03.00	\$15,550.00	9140.00	\$34,440.00	9175.20	\$44,003.E0	303.13	\$10,030.74	Ç140.00	\$34,440.00	\$32.00	\$12,752.00
87 HCFC	FCD 02376	Concrete Interceptor Structures	EA	6	\$6,284.80	\$37,708.80	\$1,600.00	\$9,600.00	\$2,800.00	\$16,800.00	\$2,331.30	\$13,987.80	\$1,955.55	\$11,733.30	\$9,210.00	\$55,260.00	\$4,880.00	\$29,280.00
88 HCFC	FCD 02376	Backslope Protection Swale	LF	1,800	\$5.35	\$9,630.00	\$5.00	\$9,000.00	\$3.00	\$5,400.00	\$10.00	\$18,000.00	\$6.25	\$11,250.00	\$5.00	\$9,000.00	\$10.00	\$18,000.00
SUBTOTAL OUTFALL CHA				-,		\$746,791.79		\$682,127.00	*****	\$895,516.57		\$862,312.16		\$749,978.05	7	\$1,033,105.40		\$1,292,297.75
F. Traffic Signal Items 89 TXD	XDOT 416	DRILL SHAFT (TRF SIG POLE) (36 IN)	LF	41	\$431.07	\$17,673.87	\$300.00	\$12,300.00	\$295.00	\$12,095.00	\$403.20	\$16,531.20	\$384.59	\$15,768.19	\$360.00	\$14,760.00	\$473.00	\$19,393.00
	XDOT 416 XDOT 416	DRILL SHAFT (TRF SIG POLE) (36 IN) DRILL SHAFT (TRF SIG POLE) (48 IN)	LF	22	\$617.48	\$13,584.56	\$550.00	\$12,100.00	\$560.00	\$12,320.00	\$582.40	\$12,812.80	\$730.07	\$16,061.54	\$520.00	\$11,440.00	\$678.00	\$14,916.00
91 TXD	XDOT 618	CONDT (PVC) (SCHD 80) (2")	LF	255	\$20.40	\$5,202.00	\$20.00	\$5,100.00	\$20.00	\$5,100.00	\$19.00	\$4,845.00	\$26.07	\$6,647.85	\$17.00	\$4,335.00	\$22.50	\$5,737.50
	XDOT 618	CONDT (PVC) (SCHD 80) (3")	LF	365	\$28.57	\$10,428.05	\$25.00	\$9,125.00	\$24.00	\$8,760.00	\$26.90	\$9,818.50	\$31.29	\$11,420.85	\$24.00	\$8,760.00	\$31.50	\$11,497.50
	XDOT 618 XDOT 618	CONDT (PVC) (SCHD 80) (3") (BORE) CONDT (PVC) (SCHD 80) (4")	LF LF	205	\$29.84 \$58.25	\$6,117.20 \$1.165.00	\$35.00 \$50.00	\$7,175.00 \$1,000.00	\$34.00 \$50.00	\$6,970.00 \$1,000.00	\$28.00 \$56.00	\$5,740.00 \$1.120.00	\$44.33 \$65.19	\$9,087.65 \$1,303.80	\$25.00 \$50.00	\$5,125.00 \$1.000.00	\$32.50 \$64.00	\$6,662.50 \$1.280.00
	XDOT 620	CONDT (PVC) (SCHD 80) (4") ELEC CONDR (NO. 6) BARE	LF	700	\$2.33	\$1,631.00	\$2.00	\$1,400.00	\$2.00	\$1,400.00	\$2.10	\$1,470.00	\$2.61	\$1,827.00	\$1.90	\$1,330.00	\$2.55	\$1,785.00
	XDOT 620	ELEC CONDR (NO. 4) BARE	LF	140	\$4.19	\$586.60	\$3.00	\$420.00	\$3.00	\$420.00	\$3.90	\$546.00	\$3.91	\$547.40	\$3.50	\$490.00	\$4.60	\$644.00
	XDOT 620	ELEC CONDR (NO. 4) INSULATED	LF	385	\$4.24	\$1,632.40	\$4.00	\$1,540.00	\$4.00	\$1,540.00	\$3.90	\$1,501.50	\$5.21	\$2,005.85	\$3.50	\$1,347.50	\$4.60	\$1,771.00
	XDOT 621 XDOT 624	TRAY CABLE (4 CONDR)(12 AWG) GROUND BOX TY D (162922) W/APRON	LF EA	915	\$3.27 \$1.689.33	\$2,992.05 \$11,825.31	\$4.00 \$1,100.00	\$3,660.00 \$7,700.00	\$3.50 \$1.100.00	\$3,202.50 \$7,700.00	\$3.10 \$1.568.00	\$2,836.50 \$10,976.00	\$4.56 \$1,434.06	\$4,172.40 \$10,038.42	\$2.75 \$1,400.00	\$2,516.25 \$9,800.00	\$3.60 \$1.860.00	\$3,294.00 \$13,020.00
	XDOT 624	GROUND BOX TY D (162922) W/APRON GROUND BOX TY 2 (243636) W/APRON	EA	1	\$8,038.89	\$8,038.89	\$5,200.00	\$5,200.00	\$5,160.00	\$5,160.00	\$7,728.00	\$7,728.00	\$6,727.07	\$6,727.07	\$6,900.00	\$6,900.00	\$8,830.00	\$8,830.00
	XDOT 628	ELC SRV TY D 120/240 060 (NS) SS (E) SP (O)	EA	1	\$7,572.87	\$7,572.87	\$10,000.00	\$10,000.00	\$9,850.00	\$9,850.00	\$6,720.00	\$6,720.00	\$12,841.40	\$12,841.40	\$6,000.00	\$6,000.00	\$8,320.00	\$8,320.00
	XDOT 680	INSTALL HWY TRF SIG (SYSTEM)	EA	1	\$46,101.30	\$46,101.30	\$35,000.00	\$35,000.00	\$34,224.00	\$34,224.00	\$39,872.00	\$39,872.00	\$44,617.66	\$44,617.66	\$35,600.00	\$35,600.00	\$50,600.00	\$50,600.00
		VEH SIG SEC (12 IN) LED (GRN)	EA	8	\$361.17	\$2,889.36	\$300.00	\$2,400.00	\$292.00	\$2,336.00	\$341.60	\$2,732.80	\$380.68	\$3,045.44	\$305.00	\$2,440.00	\$397.00	\$3,176.00
		VEH SIG SEC (12 IN) LED (GRN ARW) VEH SIG SEC (12 IN) LED (YEL)	EA EA	2 8	\$361.17 \$361.17	\$722.34 \$2.889.36	\$300.00 \$300.00	\$600.00 \$2.400.00	\$292.00 \$292.00	\$584.00 \$2.336.00	\$341.60 \$341.60	\$683.20 \$2,732.80	\$380.68	\$761.36 \$3.045.44	\$305.00 \$305.00	\$610.00 \$2.440.00	\$397.00 \$397.00	\$794.00 \$3,176.00
	XDOT 682	VEH SIG SEC (12 IN) LED (YEL ARW)	EA	2	\$361.17	\$722.34	\$300.00	\$600.00	\$292.00	\$584.00	\$341.60	\$683.20	\$380.68	\$761.36	\$305.00	\$610.00	\$397.00	\$794.00
	XDOT 682	VEH SIG SEC (12 IN) LED (RED)	EA	8	\$361.17	\$2,889.36	\$300.00	\$2,400.00	\$292.00	\$2,336.00	\$341.60	\$2,732.80	\$380.68	\$3,045.44	\$305.00	\$2,440.00	\$397.00	\$3,176.00
		VEH SIG SEC (12 IN) LED (RED ARW)	EA	4	\$361.17	\$1,444.68	\$300.00	\$1,200.00	\$292.00	\$1,168.00	\$341.60	\$1,366.40	\$380.68	\$1,522.72	\$305.00	\$1,220.00	\$397.00	\$1,588.00
		PED SIG SEC (12 IN) LED (COUNTDOWN) BACKPLATE W/REF BRDR(3 SEC)(VENT)ALUM	EA EA	6 8	\$815.54 \$174.76	\$4,893.24 \$1.398.08	\$800.00 \$160.00	\$4,800.00 \$1,280.00	\$820.00 \$160.00	\$4,920.00 \$1,280.00	\$772.80 \$168.00	\$4,636.80 \$1.344.00	\$1,069.03 \$208.59	\$6,414.18 \$1,668.72	\$690.00 \$150.00	\$4,140.00 \$1,200.00	\$896.00 \$192.00	\$5,376.00 \$1.536.00
		BACKPLATE W/REF BRDR(4 SEC)(VENT)ALUM	EA	2	\$233.01	\$466.02	\$200.00	\$400.00	\$200.00	\$400.00	\$224.00	\$448.00	\$260.74	\$521.48	\$200.00	\$400.00	\$256.00	\$512.00
112 TXD	XDOT 684	TRF SIG CBL (TY A) (12 AWG) (2 CONDR)	LF	830	\$2.33	\$1,933.90	\$2.25	\$1,867.50	\$2.25	\$1,867.50	\$2.00	\$1,660.00	\$2.93	\$2,431.90	\$1.80	\$1,494.00	\$2.55	\$2,116.50
		TRF SIG CBL (TY A) (12 AWG) (4 CONDR)	LF	860	\$2.80	\$2,408.00	\$2.75	\$2,365.00	\$2.75	\$2,365.00	\$2.50	\$2,150.00	\$3.59	\$3,087.40	\$2.20	\$1,892.00	\$3.05	\$2,623.00
	XDOT 684	TRF SIG CBL (TY A) (12 AWG) (7 CONDR)	LF EA	1,475	\$5.02 \$15.029.23	\$7,404.50 \$15,029.23	\$3.25 \$12.000.00	\$4,793.75 \$12.000.00	\$3.25 \$11.242.00	\$4,793.75 \$11.242.00	\$4.60 \$13.552.00	\$6,785.00 \$13.552.00	\$4.24 \$14.656.14	\$6,254.00 \$14.656.14	\$4.10 \$12.100.00	\$6,047.50 \$12.100.00	\$5.50 \$16.500.00	\$8,112.50 \$16.500.00
	XDOT 686 XDOT 686	INS TRF SIG PL AM (S) 1 ARM (24') LUM INS TRF SIG PL AM (S) 1 ARM (36')	EA EA	1	\$15,029.23	\$15,029.23	\$12,000.00	\$12,000.00	\$11,242.00	\$11,242.00	\$13,552.00	\$13,552.00	\$15,412.29	\$14,656.14	\$12,100.00	\$12,100.00	\$16,500.00	\$16,900.00
	XDOT 686	INS TRF SIG PL AM (S) 1 ARM (44') LUM	EA	1	\$18,873.92	\$18,873.92	\$14,000.00	\$14,000.00	\$13,250.00	\$13,250.00	\$17,024.00	\$17,024.00	\$17,273.96	\$17,273.96	\$15,200.00	\$15,200.00	\$20,700.00	\$20,700.00
	XDOT 686	INS TRF SIG PL AM (S) 1 ARM (50') LUM	EA	1	\$40,194.45	\$40,194.45	\$32,000.00	\$32,000.00	\$32,113.00	\$32,113.00	\$37,968.00	\$37,968.00	\$41,865.42	\$41,865.42	\$33,900.00	\$33,900.00	\$44,100.00	\$44,100.00
		PED POLE ASSEMBLY	EA	5	\$2,912.65	\$14,563.25	\$2,200.00	\$11,000.00	\$2,250.00	\$11,250.00	\$2,688.00	\$13,440.00	\$2,933.32	\$14,666.60	\$2,400.00	\$12,000.00	\$3,200.00	\$16,000.00
		PED DETECT PUSH BUTTON (APS) PED DETECTOR CONTROLLER UNIT	EA EA	6	\$873.79 \$3,728.18	\$5,242.74 \$3,728.18	\$800.00	\$4,800.00 \$3,000.00	\$800.00 \$2,950.00	\$4,800.00	\$840.00 \$3,584.00	\$5,040.00 \$3,584.00	\$1,042.96 \$3,845.89	\$6,257.76 \$3,845.89	\$750.00 \$3,200.00	\$4,500.00 \$3,200.00	\$960.00 \$4,090.00	\$5,760.00 \$4,090.00
		BBU SYSTEM (EXTERNAL BATTERY CABINET)	EA	1	\$8,504.92	\$8,504.92	\$8,500.00	\$8,500.00	\$8,400.00	\$8,400.00	\$8,176.00	\$8,176.00	\$10,951.04	\$10,951.04	\$7,300.00	\$7,300.00	\$9,340.00	\$9,340.00
	DOT 6292	RVDS (PRESENCE DETECTION ONLY)	EA	4	\$10,835.03	\$43,340.12	\$5,250.00	\$21,000.00	\$5,250.00	\$21,000.00	\$10,304.00	\$41,216.00	\$6,844.40	\$27,377.60	\$9,200.00	\$36,800.00	\$11,900.00	\$47,600.00
124 TXDO		RVDS (ADVANCE DETECTION ONLY)	EA	2	\$11,592.31	\$23,184.62	\$5,400.00	\$10,800.00	\$5,350.00	\$10,700.00	\$11,088.00	\$22,176.00	\$6,974.77	\$13,949.54 \$341.882.76	\$9,900.00	\$19,800.00	\$12,700.00	\$25,400.00
						\$352,652.46		\$265,926.25		\$262,238.75		\$326,312.50		\$341,88Z./b		\$291,337.25		\$387,120.50
G. Traffic Control Items		Work Zone Pavement Markings 4" White/Solid (Removable)																
125 H	HC 665	Furnished. Applied & Removed	LF	1,678	\$2.33	\$3,909.74	\$1.35	\$2,265.30	\$0.75	\$1,258.50	\$2.10	\$3,523.80	\$0.98	\$1,644.44	\$1.35	\$2,265.30	\$0.95	\$1,594.10
126 H	HC 665	Work Zone Pavement Markings 4" Yellow/Solid (Removable) Furnished, Applied & Removed	LF	13,733	\$2.33	\$31,997.89	\$1.35	\$18,539.55	\$0.58	\$7,965.14	\$2.10	\$28,839.30	\$0.76	\$10,437.08	\$1.35	\$18,539.55	\$0.75	\$10,299.75
127 H	HC 665	Work Zone Pavement Markings 24" White/Solid (Removable)	LF	50	\$9.32	\$466.00	\$13.00	\$650.00	\$5.50	\$275.00	\$9.60	\$480.00	\$7.17	\$358.50	\$12.50	\$625.00	\$7.00	\$350.00
		Furnished, Applied & Removed Temporary Residential Driveways -															,	
128 H	HC 671	Furnish, Install & Remove	EA	24	\$1,889.65	\$45,351.60	\$1,000.00	\$24,000.00	\$509.00	\$12,216.00	\$100.00	\$2,400.00	\$776.69	\$18,640.56	\$500.00	\$12,000.00	\$1,340.00	\$32,160.00
129 H	HC 671	Traffic Control - Barricades Barriers Barrels Cones & Signing	МО	18	\$3,236.27	\$58,252.86	\$15,000.00	\$270,000.00	\$5,800.00	\$104,400.00	\$4,200.00	\$75,600.00	\$2,622.73	\$47,209.14	\$12,500.00	\$225,000.00	\$8,580.00	\$154,440.00
	HC 673	Constructing Detours (6" Black Base)	SY	947	\$74.14	\$70,210.58	\$85.00	\$80,495.00	\$83.00	\$78,601.00	\$54.40	\$51,516.80	\$78.03	\$73,894.41	\$70.00	\$66,290.00	\$102.00	\$96,594.00
	HC 696	Low Profile Concrete Barrier (Furnish and Install) Low Profile Concrete Barrier (Relocate)	LF IF	1,420 1,420	\$67.24 \$13.95	\$95,480.80 \$19,809.00	\$25.00 \$15.00	\$35,500.00 \$21,300.00	\$13.00 \$5.00	\$18,460.00 \$7,100.00	\$47.00 \$18.30	\$66,740.00 \$25,986.00	\$13.80 \$2.74	\$19,596.00 \$3,890.80	\$50.00 \$5.00	\$71,000.00 \$7,100.00	\$80.00 \$9.25	\$113,600.00 \$13,135.00
133 H	HC 696 HC 696	Low Profile Concrete Barrier (Remove)	LF LF	1,420	\$6.44	\$19,809.00	\$15.00	\$14,200.00	\$12.00	\$17,040.00	\$18.30 \$18.60	\$25,986.00	\$13.80	\$3,890.80	\$10.00	\$14,200.00	\$9.25	\$13,135.00
SUBTOTAL TRAFFIC CONT	NTROL ITEN	is .				\$334,623.27		\$466,949.85		\$247,315.64		\$281,497.90		\$195,266.93		\$417,019.85	-	\$440,632.85
H. Storm Water Pollution	ion Preventi																	
134 H	HC 162	Sodding for Erosion Control and Stabilization (Behind Curb & Sidewalk)	SY	5,733	\$5.83	\$33,423.39	\$5.00	\$28,665.00	\$6.30	\$36,117.90	\$5.60	\$32,104.80	\$5.54	\$31,760.82	\$6.30	\$36,117.90	\$8.25	\$47,297.25
135 H	HC 165	(Behind Curb & Sidewalk) Hydro-Mulch Seeding	AC	11	\$2,737.88	\$30,116.68	\$1,500.00	\$16,500.00	\$6,500.00	\$71,500.00	\$1,792.00	\$19,712.00	\$2,281.46	\$25,096.06	\$2,250.00	\$24,750.00	\$3,200.00	\$35,200.00
	HC 713	Reinforced Filter Fabric Barrier (60% of unit cost for	LF	1,334	\$2.33	\$3,108.22	\$2.00	\$2,668.00	\$5.00	\$6,670.00	\$2.80	\$3,735.20	\$5.87	\$7,830.58	\$3.15	\$4,202.10	\$2.75	\$3,668.50
		furnish and install: 40% of unit cost for removal) Inlet Protection Barrier - Stage I (60% of unit cost for	EA	43				\$2.150.00		\$3.870.00		\$4.093.60	\$228.15	\$9.810.45	\$115.00	\$4.945.00		\$4,300.00
137 H	HC 719	furnish and install; 40% of unit cost for removal)	ŁA	43	\$75.73	\$3,256.39	\$50.00	\$2,150.00	\$90.00	\$3,870.00	\$95.20	\$4,093.60	\$228.15	\$9,810.45	\$115.00	\$4,945.00	\$100.00	\$4,300.00
138 H	HC 724	Stabilized Construction Access - Type I (60% of unit cost for furnish and install;	SY	555	\$34.79	\$19,308.45	\$18.00	\$9,990.00	\$40.05	\$22,227.75	\$44.80	\$24,864.00	\$65.19	\$36,180.45	\$40.05	\$22,227.75	\$28.00	\$15,540.00
		40% of unit cost for removal)		.,-		,		,		. ,		. ,		, ,		. ,		,
130	HC 741	Inlet Protection Barrier - Stage II (60% of unit cost for furnish and install; 40% of unit cost for removal)	EA	50	\$87.38	\$4,369.00	\$50.00	\$2,500.00	\$60.00	\$3,000.00	\$61.60	\$3,080.00	\$325.93	\$16,296.50	\$62.00	\$3,100.00	\$100.00	\$5,000.00
		Rock Filter Dam Type I (60% of unit cost for	I.F.	629	\$26.77	445 000 00	\$65.00	\$40,885.00	\$140.00	\$88.060.00		4			4			\$32,708.00
139 H	HC 750											5112.716.80	\$65.19		\$140.00	\$88.060.00	\$52.00	
139 H	HC 750	furnish and install; 40% of unit cost for removal)	-		\$485.44	\$16,838.33	,			,	\$179.20	\$112,716.80	\$65.19	\$41,004.51				\$108,000,00
139 Hi 140 Hi 141 Hi	HC 750 HC 751 HC 700	furnish and install; 40% of unit cost for removal) SWPPP Inspection and Maintenance (Min Bid \$6000) TPDES General Permit No. TXR150000,	MO EA	18		\$8,737.92 \$11,650.56	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00 \$700.00	\$179.20 \$6,000.00 \$364.00	\$112,716.80 \$108,000.00 \$728.00		\$41,004.51 \$7,822.26 \$19,555.42	\$140.00 \$6,000.00 \$350.00	\$88,060.00 \$108,000.00 \$700.00	\$52.00 \$6,000.00 \$960.00	\$108,000.00

onstruction and	widening of N	riccial y noau																
				Γ	Northtex Co	nstruction, LLC	R Construct	ion Civil, LLC.	Texas Sterling	Construction Co.	SER Construction	on Partners, LLC.	Zachry Constru	ction Corporation	Harper Brother	s Construction, LLC.	Millis Equ	ipment, LLC.
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures	Price	Figures	Price	Figures	Price	Figures
SUBTOTAL STORM	M WATER POLL	UTION PREVENTION ITEMS				\$130,808.94		\$214,358.00		\$340,145.65		\$309,034.40		\$195,357.05		\$292,102.75		\$253,633.75
I. Signing and Stri	iping Items																	
143	HC 624	Aluminum Signs (Ground Mounted) - Furnish and Install	EA	46	\$553.40	\$25,456.40	\$350.00	\$16,100.00	\$175.50	\$8,073.00	\$957.60	\$44,049.60	\$228.80	\$10,524.80	\$310.00	\$14,260.00	\$256.00	\$11,776.00
144	HC 660	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Dashed - Furnish & Applied	LF	5,280	\$1.17	\$6,177.60	\$1.00	\$5,280.00	\$0.68	\$3,590.40	\$1.00	\$5,280.00	\$0.89	\$4,699.20	\$0.85	\$4,488.00	\$0.85	\$4,488.00
145	HC 660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	3,289	\$2.33	\$7,663.37	\$2.00	\$6,578.00	\$1.50	\$4,933.50	\$2.00	\$6,578.00	\$1.96	\$6,446.44	\$1.80	\$5,920.20	\$1.90	\$6,249.10
146	HC 660	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied	LF	989	\$4.66	\$4,608.74	\$4.00	\$3,956.00	\$2.60	\$2,571.40	\$5.60	\$5,538.40	\$3.39	\$3,352.71	\$4.00	\$3,956.00	\$3.35	\$3,313.15
147	HC 660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	LF	448	\$9.32	\$4,175.36	\$8.00	\$3,584.00	\$6.25	\$2,800.00	\$9.00	\$4,032.00	\$8.15	\$3,651.20	\$8.00	\$3,584.00	\$8.00	\$3,584.00
148	HC 660	Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied	LF	5,315	\$1.17	\$6,218.55	\$1.00	\$5,315.00	\$0.68	\$3,614.20	\$1.00	\$5,315.00	\$0.89	\$4,730.35	\$0.85	\$4,517.75	\$0.85	\$4,517.75
149	HC 660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied	LF	271	\$9.32	\$2,525.72	\$8.00	\$2,168.00	\$6.50	\$1,761.50	\$9.00	\$2,439.00	\$8.47	\$2,295.37	\$8.00	\$2,168.00	\$8.25	\$2,235.75
150	HC 660	Reflectorized Pavement Markings Type I (Thermoplastic) Word "ONLY" - Furnish & Applied	LF	23	\$203.88	\$4,689.24	\$275.00	\$6,325.00	\$145.00	\$3,335.00	\$222.90	\$5,126.70	\$189.04	\$4,347.92	\$275.00	\$6,325.00	\$186.00	\$4,278.00
151	HC 660	Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow - LEFT - Furnish & Applied	EA	14	\$203.88	\$2,854.32	\$240.00	\$3,360.00	\$140.00	\$1,960.00	\$222.90	\$3,120.60	\$182.52	\$2,555.28	\$240.00	\$3,360.00	\$179.00	\$2,506.00
152	HC 660	Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow - RIGHT - Furnish & Applied	EA	9	\$203.88	\$1,834.92	\$240.00	\$2,160.00	\$140.00	\$1,260.00	\$222.90	\$2,006.10	\$182.52	\$1,642.68	\$240.00	\$2,160.00	\$179.00	\$1,611.00
153	HC 663	Reflectorized Pavement Markings Type I-C - Furnish & Install	EA	178	\$6.99	\$1,244.22	\$6.00	\$1,068.00	\$4.80	\$854.40	\$7.20	\$1,281.60	\$6.26	\$1,114.28	\$6.00	\$1,068.00	\$6.25	\$1,112.50
154	HC 663	Reflectorized Pavement Markings Type II-C-R - Furnish & Install	EA	792	\$6.99	\$5,536.08	\$6.00	\$4,752.00	\$4.80	\$3,801.60	\$7.20	\$5,702.40	\$6.26	\$4,957.92	\$6.00	\$4,752.00	\$6.25	\$4,950.00
155	HC 663	Reflectorized Pavement Markings Type II-A-A - Furnish & Install	EA	186	\$6.99	\$1,300.14	\$6.00	\$1,116.00	\$4.80	\$892.80	\$7.20	\$1,339.20	\$6.26	\$1,164.36	\$6.00	\$1,116.00	\$6.25	\$1,162.50
156	HC 660	Reflectorized Pavement Markings Type II (Paint) - Median Nose	LF	3,362	\$1.17	\$3,933.54	\$2.00	\$6,724.00	\$1.02	\$3,429.24	\$2.90	\$9,749.80	\$1.33	\$4,471.46	\$1.65	\$5,547.30	\$1.30	\$4,370.60
SUBTOTAL SIGNIN	NG AND STRIPI	NG ITEMS				\$78,218.20		\$68,486.00		\$42,877.04	•	\$101,558.40		\$55,953.97		\$63,222.25		\$56,154.35
J. Extra Work Iten	ns																	
157	HC 436	Well Pointing System	LF	500	\$23.45	\$11,725.00	\$25.00	\$12,500.00	\$25.00	\$12,500.00	\$39.20	\$19,600.00	\$24.02	\$12,010.00	\$35.00	\$17,500.00	\$38.50	\$19,250.00
158	HC 464	Sched 40 PVC 6-Inch Irrigation Sleeve	LF	662	\$24.61	\$16,291.82	\$30.00	\$19,860.00	\$28.00	\$18,536.00	\$29.10	\$19,264.20	\$70.92	\$46,949.04	\$35.00	\$23,170.00	\$45.50	\$30,121.00
159	HC 550	Remove and Dispose of Existing Fence, including gates	LF	500	\$2.05	\$1,025.00	\$10.00	\$5,000.00	\$7.22	\$3,610.00	\$5.60	\$2,800.00	\$9.42	\$4,710.00	\$5.00	\$2,500.00	\$16.00	\$8,000.00
160	HC 554	Wood Fencing, including gates	LF	500	\$27.85	\$13,925.00	\$75.00	\$37,500.00	\$45.20	\$22,600.00	\$68.30	\$34,150.00	\$58.93	\$29,465.00	\$50.00	\$25,000.00	\$89.50	\$44,750.00
161	HC 556	Four Stand Barbed Wire Fence, including gates	LF	500	\$20.97	\$10,485.00	\$10.00	\$5,000.00	\$10.51	\$5,255.00	\$14.60	\$7,300.00	\$13.70	\$6,850.00	\$27.00	\$13,500.00	\$28.00	\$14,000.00
162	HC 559	Construction Safety Fencing	LF	3,000	\$2.33	\$6,990.00	\$4.00	\$12,000.00	\$4.25	\$12,750.00	\$3.40	\$10,200.00	\$13.04	\$39,120.00	\$4.50	\$13,500.00	\$4.50	\$13,500.00
163	HC 672	Off Duty Uniformed Officer - As Directed by the Engineer (Min. Bid \$40.00/HR)	HR	300	\$75.73	\$22,719.00	\$60.00	\$18,000.00	\$55.00	\$16,500.00	\$61.60	\$18,480.00	\$71.70	\$21,510.00	\$55.00	\$16,500.00	\$70.50	\$21,150.00
164	TXDOT 681	Temporary Traffic Signal - Phase 2 Adjustment	LS	1	\$2,796.13	\$2,796.13	\$20,000.00	\$20,000.00	\$18,250.00	\$18,250.00	\$2,688.00	\$2,688.00	\$23,792.44	\$23,792.44	\$2,400.00	\$2,400.00	\$3,070.00	\$3,070.00
SUBTOTAL EXTRA	WORK ITEMS					\$85,956.95		\$129,860.00		\$110,001.00		\$114,482.20		\$184,406.48		\$114,070.00		\$153,841.00

	Northtex Construction, LLC	R Construction Civil, LLC.	Texas Sterling Construction Co.	SER Construction Partners, LLC.	Zachry Construction Corporation	Harper Brothers Construction, LLC.	Millis Equipment, LLC.
A. Site Preparation and Excavation Items	\$650,618.35	\$1,335,045.00	\$1,527,730.00	\$2,106,474.10	\$1,196,369.36	\$1,192,081.00	\$1,769,818.00
B. Pavement Items	\$5,321,359.33	\$5,042,868.00	\$5,348,610.05	\$5,354,880.00	\$6,344,373.52	\$6,119,602.75	\$5,643,957.40
C. Storm Sewer Items	\$4,403,424.90	\$4,304,240.00	\$3,795,886.00	\$4,446,591.50	\$4,893,578.18	\$5,076,227.00	\$5,728,713.85
D. Detention Pond Items	\$92,545.33	\$135,922.00	\$245,432.20	\$247,483.94	\$150,119.57	\$226,470.40	\$304,463.00
E. Outfall Channel Items	\$746,791.79	\$682,127.00	\$895,516.57	\$862,312.16	\$749,978.05	\$1,033,105.40	\$1,292,297.75
F. Traffic Signal Items	\$352,652.46	\$265,926.25	\$262,238.75	\$326,312.50	\$341,882.76	\$291,337.25	\$387,120.50
G. Traffic Control Items	\$334,623.27	\$466,949.85	\$247,315.64	\$281,497.90	\$195,266.93	\$417,019.85	\$440,632.85
H. Storm Water Pollution Prevention Items	\$130,808.94	\$214,358.00	\$340,145.65	\$309,034.40	\$195,357.05	\$292,102.75	\$253,633.75
1. Signing and Striping Items	\$78,218.20	\$68,486.00	\$42,877.04	\$101,558.40	\$55,953.97	\$63,222.25	\$56,154.35
J. Extra Work Items	\$85,956.95	\$129,860.00	\$110,001.00	\$114,482.20	\$184,406.48	\$114,070.00	\$153,841.00
TOTAL BID PRICE (SUM OF ITEMS A THROUGH I)	\$12,196,999,52	\$12.645.782.10	\$12.815.752.90	\$14,150,627,10	\$14.307.285.87	\$14.825.238.65	\$16.030.632.45